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__,'PART'.T::A_J-___.. ﬁ_. e .M_arks 40 b

Note Attempt all the twenty questlons Each questlon cames 2 marks Answer should
© not exceed 15 “words. :

1 I_)iﬁ'er.entiete kernel _and"':shell'.__

o emrm—n -

1 .2 Write four necessary conditions for deadlock.

EIT P YR R N

3  What factor(s) contribute t0 thrashing in an operating _s_y_stem ?
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- meniory fr_o_r_n __ad*"_réss_'_QQGH f0 brrn stores four jobs. from address 111H 10 aa2} -
CAYH 0 62FH, 333H to 400H and BB8H (o F FFH, How ma,n} hoies are there if. OOOI.

o ”uu {b auocated o O3 ?

5 Consider hashing function hk+1 (xj—khk( }+k} mod 11 A (x)=x mod 11. What sha

be value of hy{24). .
_____ ;
E tor a grammar
o N — (."1,.!3'0
5 '_>.b“'"‘5’
> ' _
Find whether ababbaba is acceptable string or not. Justify answer
5
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.'_f-‘xpply operator strmgtn reuuct;ou ..nd lﬁop fol.m;" omm ation n !
~give-output. - - ' o '
:DO I=1 to o

K=L%*2

"y

-8 Write pumping lemma for regular grammar
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9 ' Fnumerate three diﬂ'erencée_s bétweeri CSMA/CD and <SMA/CA.
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¢ o0 100 'Whdt aré the typical ranges of class A, class B and ‘class C TPVA4-address 2 i

1t ‘What are advantages of packet switching over circuit switching 7
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IIZ_WhatareARPandRARP?_ o ]
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3" What are the phases of waterfal model 7

TR T

"1 14 Describe one approach to-identify object class in object oriented analysis.
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15 What is intégration testing 7
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- Differentiate between raster and random scan.
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719" What s affine transformation 7

¥

26 -~3Why. o7 homogeneous coordinates used in graphics algorithms ? . L
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"Note.'”: : Attempt a]l the twelve - questmns Each questxon cames 5 marks Answer sh@ .

PART -—B T Marksé

not exceed 50 words

21 Consnder 3 processes P1, P2 P3 shown as under
- . Execution
" Process ' --;"-A’_rrival Timie Tme units: Reqmred
P10 L oS
P33 o A . S
" Explain the completion order of the 3 processes under First come ﬁrst serve and o
- robin scheduhng w1th CPU quantum of 2 tlme units,

T
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-f‘Conslder a 9-Ievel cache sysrem CPU tries’ to access. data ﬁ'om LI cache and if data lS not
: -:.'._found there, it.tries to read data from L2 cache and. then from RAM I—Ilt rate of L1 and L2
'cache are 95% and 90% respectlvely On an average, a CPU takes 2 cycles to read from L1, .
-5 cycles to read from L2 and 25 cycles to read from RAM What is average access time ? o R

23

Given memory partitions of 100 k, 500 k, 200 k, 300 k and 600 k (in order). How wou?_d;

- each of the first fit, best fit and worst fit algorithm place processes of 212 k, 417 k,

112 k, 426 k (in order as given) 7 Which algorithm makes the best use of inemory ?
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'"”24 For an NFA qweﬂ asl . S e Com e T
F = ({qo (h qa q3, q {a b, c} \I qo, __.~’q ;) V’lth tra h;‘ftor‘ ldble-. EIE
- - Input svmbol ' _ R
q'o {qo ql} (o, C!z} {4, 93}
q1 _ {ql, Qa) {q;} - {q;3
Q@ _{Qz_} | {q2 G} {4}
ce o ek {Cla} Aagoqd e T

Fi_n‘.d_ whether string aca is acceptable.or not. -
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26 Differentiate switches, hubs and routers in té;ms of :
{a) “Access mechanism (b) Collision. -
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27 ".Path MTU is the smallest M’I‘U of any lmk on the current path (route) between two
" hosts. Path MTU is of size 512" bytes. Message contains 2048 bytes and 20 bytes of .

* header. All IP headers are 20 bytes. Give'the sizes and offset of the sequence of fragments o

'delxvered to network layer at the destination. Assume surtable ‘data if necessary '

. 28 Name two quallty control approaches and explam quahty review approaoh in context of
. software engineering. - : | _ o i
s
— - ;
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39 What are merits and demerits of white-box testing with respect to black-box testing ?

.
3
.
i
Hl
i
|

30 leen two raster systems wnh resolutlon 640 x 480 and 1280, x 1024. What size frame

buffer is needed for each of these systems to store 12 bits per pixel ? How much storage B : :
is required for each system if 24 bits per pl;cel are needed to be stored ?. o
r;
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.'31 .. Why do we need antialiasing in Graphics '?'_E}ip'i_ain"h'_c')fw ‘can’ this e achieved 77

. i S o i

32 What are the steps invoived in 3D transformation ? Define vanishing point.
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. Note .. j-_-_,At:tempt'-_anY 5 questions.. Each_quest_i'on carries 20 marks: Answer $h-9u1 d ot excd

B __.-._Deveibp' reglilaf .éxﬁréss_iohs' for-a number ,expres_s:éd_;_in' féxponential form. Bbﬁih-‘---_ma ntid 5

S numbers-in exponential form are 2E4, 3¢5, ~7E-7"(Here ‘mantissa is e

C9-T| o o 18 : . {Con

© 200 words.

q ..

_and exponent are represented in -decimal representation (+2.3, ~3.68). Examples of ri

. ¢/E and exporent. is real number. after &/E). .
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34 Explam the parameters nsed in macre name tab]e (MNT) For the foilowmg, Loue generate
- MNT and various: tables- used in MNT I R _ _ .
g . MACRO -
CLEARMEM &X &N, &REG AREG
' ILCL &M
&M . SET - 0 o I
.. MORE MOVEM &.REC; &X 4 &M - B
o AF _(&MNEN)LKRE B
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35 - For

the network gwen in the foliowmg ﬁgure obtam global de_fa,nc_e_‘-- ye_ctor uoder_ the

. COIldlthl‘lS

@

b

- (_C)'.

Each node knows only the d1stanoes to 1ts 1mmed1ate nelghbours , e
‘Each node has reported the mformanon it had in the precedmg steps to its 1mmed1ate .
neighbour . : _

Step (b) happens a second tlme
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36 Show. that the foilowmg lanouages are context ﬁee uy exhibi‘ti‘ng" context free grammar |
L rJneneraltet:l in:the-following - . . o e E '
__(a) {a“‘bncf“’(.’lq m-rn—-p-rq}
S (by fambhimog 211}
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Consxder a quadratlc B Splmn curve with uniform knot spacmg Con51der a sebment w1th'-*"- .

controt-point.(1; 0),-(1, 1) and (0, 1) m.that order:: -What are the end pomts of the curve.f-__'-;"
segment ?. What is the mid—pomt of- the curve segment '? L
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~ 38 Describe four types of reliabiliy metries in-context of softwaré Engg,

A E T aas atan, o 1
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8 3% In compﬂers what are: the dﬁ'erent ways mteimediate code can be rep;eeented DlSCLieS_ Co
- S . how (a)- ‘switch statement -and: (b) for statement can, be represented as: oontrol flow graph S
: ,Lable ‘basic blocks clealry . _ S

i Cei 2in U T pre-block; R .,pre-block IR SRR |

oo | switch (vaiue) { _ for (untlhzatlon condmon 1ncrement) { -
~case valuel : - - statements;
o statementl,_. N R G
© break; | 7 post-block; -
case valuez : ToETER
statementz -
break '

L R ddﬁdt
. S statement

break

T '_post block

o
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